
I.D.:	42707727

pachet	materiale	reparatii	curente

Data
publicarii

10.05.19 Coduri	CPV 44192000-2

Pretul
estimativ:

19.068,56	RON	-	19.068,56	RON 	 	

Descriere: 1.	aracet	pentru	constructii=	25x4.62;	2.	cm11=	400x1.18;	3.	cm	17=	500x2.52;	4.
prenadez=10x21.00;	5.	diblu	rigips	metal=150x0.57;	6.	holsurub	tn	4x35=2000x0.07;	7.
coltar	al=	20x2.94;	8.	ciment	gri=200x0.46;	9.	profil	sd	60/20=30x2.94;	10.	usi	vizitare
20x20=35x16.39;	11.	chit	faianta	rosturi=5x6.72;	12.	aracet	lemn	o.8kg=	15x7.98;	13.	kit
cutit=20x6.30;	14.	surub	bombat	m6x60	cu	piulita=	100x0.38;	15.	cuie	constructii	3cm,
5cm=30x5.04;	16.	cherestea	brad	2.5cm,	5cm=3x924.37;	17.	placaj	5mm=	20x96.64;	18.
pal	melaminat	stejar	18mm=10x302.52;	19.	pfl	melaminat	stejar	=6x96.64;	20.	parchet
melaminat	stejar	8mm=160x30.25;	21.	margine	parchet	2.5ml=30x10.92;	22.	holsurub
bataie	6x60=250x0.21;	23.	coltar	parchet	in	si	ext=76x2.10;	24.	prag	imbinare	l=100mm=
12x19.33;	25;	holsurub	tn	4x20,	4x35=3000x0.04;	26.	holsurub	4x18,	4x60=2000x0.08;	27.
holsurub	4x25,	5x40=1000x0.10;	28.	surub	cap	bombat	m4x25	cu	piulita=250x0.29;	29.
surub	m6x20,	m6x40,	m6x60=1500x0.36;	30.	piulita	m4,	m5,	m6=1500x0.04;	31.	surub	cap
torbant	m8x60=60x0.38;	32.	surub	cap	torbant	m8x90=250x0.67;	33.	piulita	m8=900x0.07;
34.	saiba	plata6x20=200x0.08;	35.	holsurub	cu	diblu	6	si	8=	2000x0.13;


